
II. KCS. LÁNYOK 

"A" CSOPORT
BOZSIK "B" ZRÍNYI DÓZSA ZSIRA PONT HELY

BOZSIK "B" 1 - 1 0 - 3 1 - 1 2 IV.

ZRÍNYI 1 - 1 0 - 3 3 - 3 2 II.

DÓZSA 3 - 0 3 - 0 6 - 1 6 I.

ZSIRA 1 - 1 3 - 3 1 - 6 2 III.

II. KCS. LÁNYOK 

"B" CSOPORT
BOZSIK "A" KOSSUTH MIHÁLYI PONT HELY

BOZSIK "A" 10 - 0 5 - 0 4 I.

KOSSUTH 0 - 10 1 - 0 2 II.

MIHÁLYI 0 - 5 0 - 1 0 III.

Végeredmény
A1 - B2 Dózsa Kossuth 5 - 1 1. Dózsa
B1 - A2 Bozsik A ZrÍnyi 5 - 0 2. Bozsik A
7. helyért Bozsik B x 3. Zrínyi
5. helyért Zsira Mihályi 3 - 1 4. Kossuth
3. helyért Kossuth ZrÍnyi 3 - 4 5. Zsira
1. helyért Dózsa Bozsik A 3 - 0 6. Mihályi

7. Bozsik B


